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M|O|ZE& Semicolons () - 289 & HA|
=5 ({, } ) - =5 AAERE
(“%lf”, Svar); (“%lf”, var);
HE UEE g
printf() / scanf() %cC char printf/scanf
%d int printf/scanf
return £2%; ;
%f double printf
Y= = %lf double scanf
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const int minperhour = 60;
int minutes, hours, 10
printf("AlZIS & Hhia
scanf("%d", &minute12 hours = minutes / minperhour;
13 mins = minutes % minperhour;

14 printf("Z A|ZF %d & = %d AlZF, %d 2\n",
15 minutes, hours, mins);

16 printf("A|ZtE £ CiQZ 23 (o 0|H quit):
17 scanf("%d", &minutes);

18 }

19

20 printf("ZZ\n");
21 return 0;
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1=2/* Programming Exercise 5-2 */

2 [#include <stdio.h> #define CRT _SECURE_NO WARINGS
3 @int main(void) #include <stdio.h>

int start, finish;

printf("d4 ®=H: ");
scanf("%d", &start);
finish = start + 10;

while (start <= finish) // or start < finish + 1
printf("%d ", start++);

printf("\nBye\n");

return 0;
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#include <stdio.h>

{

const int daysperweek =
int days,

printf("3 LCIX ®H:
scanf("%d", &days);
OUAl &=+ 369

£
[
Q

(I

924,
A &=

sint main(void)

12oll |},
(0 0|5} end): O

weeks, day_ rem;

while (days > 0)
{
weeks = days / daysperweek;

7; day _rem = days % daysperweek;
printf("%dY2 %dF, BdYLUL|CF.\n",

days, weeks, day rem);
") printf("E UQIX| Y (@ O[St end): ");

scanf("%d", &days);

19 }
20
21 printf("E=!\n");

22 return 9;
23
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ZE243 A5 A p218 NN . S U e
ArEXIO|A| 7|1 MEID[E T2 2 YFHIEE 216101 MIE|O|E{ef,
L EQf QIX|E el &6t 2 12 25|t
MEID[EQt QIX|= ALHE 5{85l{0f gHC}.
D2 M2 AEXAIZ &7t OFH di= Q=S Wi7fK| 7 |[S Al& et
£ QUE= Sl{of stCt, O2|10 O of|ef 22 Zoio = ==sHof St
MIE|O|E] T2 7|E QUAESIA|2: 182
182. OMIEJO|E{= 50 E, 11. 791X |ILIC}.
MEIDOE HRI2 7|2 UZSIA|R2 (ELH2{H (=0): 168.7
168. OMIEJO|E{= 50| E, 6. 191X|L|C}.
ME|D[E]| He2 7| & US| (EUH2M™ (=0): 0
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#include <stdio.h>
const double CM_PER_INCH = 2.54;
const int INCH _PER_FOOT = 12;

sint main()

{ JICAIEIDIE SH2l) 2= 170
double cm; 170.0 cm = 5 feet, 6.9 inches
double inches; ]KkHEHHE1 CHRlY Q12d(<=0 quit): 0

int feet; =0

printf("7|(ME|OJH TH) €=H: ");
scanf("%1f", &cm);

10



while (cm > 0)

{
inches = cm / CM_PER_INCH;
feet = (int) inches / INCH_PER_FOOT;
inches = inches - feet * INCH_PER_FOOT;

printf("%.1f cm = %d feet, %.1f inches\n",
cm, feet, inches);

printf("7|(ME|O/E tH2) = (<=0 quit): ");

scanf("%1f", &cm);

}

printf("Z=&\n");
return 0;
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20%0| X|'w= W 25 FobE wA E|=X

Alttote 202t E4e = UL,

Albts C7ER| TR ARIK| = ArEXIZE Tt =& € & = UESF
= _]EHO J\I-I |-E|_I-

e e e E

=, 20= ﬁké %' MEote Ha= A5t
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2 #include <stdio.h>
3 #int main(void) /* finds sum of first n integers */

int count, sum; XA n olz(1 T )y 100
int n; sum = 5050

printf("Egs n (1 ~ n): ");

scanf("%d", &n);

count = 9;
sum = 0O,
while (count++ < n)

sum = sum + count;
printf("sum = %d\n", sum);
return 9;
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#define CRT_SECURE_NO WARNINGS
#include <stdio.h>
=int main(void) /* finds sum of squares of first n integers */
1
int count, sum;
i ] . + 100 x 100 = 338350
int n;
printf("HZ n Y (1 ~ n): );
scanf("%d", &n);

1
2
3
4
5
6
7
8
9

count = 0;
sum = 0;
while (count++ < n)
sum = sum + count * count;
printf("1 + 2 X 2 + 3 X3 ... + %d x %d = %d\n", n, n, sum);
return 9;
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2
3
4
5
6
7
8
9

#include <stdio.h>
void showCube(double x);

2int main(void) /* finds cube of entered number */

{ SEARES Qe 2,0
o[V N-IRVENREEND  000000e+000 ©| A H = = 8.000000e+000.

printf("E3osds BH: ");

scanf("%1f", &val);

showCube(val);

return 0; *
}

-void showCube(double Xx)

{
printf("%e O| MA

}

17
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ZEIUS DEA (5 A2 Lk LIOK])) 2 Tste Z2Io|ct
= RO LQIARKLE R 2E HAES UBBIAIQ. : 256
O[R| 5 Y LIIAKIE QURGIAIQ. : 438

438 % 256 = 182

S T TOIARE((= 0 0} B2) & TFS £ UABHAIL. : 1234567
1234567 % 256 = 135

S I TQIAKE((=0 0[5 B2) & [ 45 UASHAI2. : 0

e
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2 #include <stdio.h>
3 =int main(void)

int number;
int result;
int n_mod;

printf("moduli(Lt=
printf("S B ZHAK}
scanf("%d", &n_mod);
printf("O|X| A EIRY I|GIAHK}
scanf("%d", &number);

19



modul i{LE= LIHAIY HIAf
& HH GMAE REYE E4-E GHOHAL
OlAl = S LIAAAE d=E0tAl2.0 10
! 10% 4 is 2
while (number > ©) HE T O =
{ =

result = number % n_mod;

1k'printf(“%d %t %d is %d\n", number, n_mod, resu
printf("X HF I|HAKH<= 0 O|H Z=2)& [t
scanf("%d", &number);

}
printf("ZZ\n");
return 9;

20
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AEXA K2 EE YUHSIES Qo= 22 THS 25|},
O| T2 1 FHUREE doublec>J 2 1,

wr Temperatures()E'Jr AKX} ShA0|| MHOIXR}f

Hu
2
ul?
=IOI__I
=
rok
{1

= 1 o0l g5t GM2Eef U2 =S Althsto] EHslE,
Ml 7K 225 2+ Okll &= A77HK|2| S22 HA[SHOF ot

e 242t0] 10| el BAIS 5101 D 4 = ot it
SHA|L
L=

QEHO 2 FH2 = Aot EOM0IA] AFEEIL:. 2Hi2X 02 AHANM 7t

21



Temperatures () &= const= AL25}0] 3t 2 A0 LIEHH=
Ml 70Ol AFAZ 7|5 B3O 2 LIEHHOF BiC.

== ALt= S7H8 (equality) = BASIER,
scanf() g(0| 1= Bretst=X| H|woh=0| AFHE=
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2 #include <stdio.h>

3 void Temperature(double n);
4 =int main(void)

double temp_ F;

int items_read;;

printf("2tN 2= 2E: ");

items _read = scanf("%1f", &temp F);

while (items_read == 1) // or items_red

{

Temperature(temp F);
printf("2t) 2% AH:(q O|H FH=): ");
items _read = scanf("%1f", &temp F);

}

printf("Z2.\n");

return 0,




- 2/2 continue, End

21 =void Temperature(double t_f) oHhl =& B5: 60
22 othl =25 : 65.00
{ Shl 2T : 18.33
23 const double SCALE = 1.8; X[l @ : 991.49
24 const double F2C_ZERO = 32.0; Ei eyl e IolIsmE=t=0 "
25 const double C2K_ZERO = 273.16; El=%

26 double t c; /* celsius value */
27 double t _k; /* kelvin value */
28

29 t ¢ = (t_f - F2C_ZERO) / SCALE;
30 t k = t ¢ + C2K_ZERO;

31

32 printf("%-16s: %.2f\n", "IN 2", t f);
33 printf("%-16s: %.2f\n", "M 2&", t c);
34 printf("%-16s: %.2f\n", "ELC 22", t k);
35 return;



AR

O=
Lo

—I—
o]

i ol il
7= KO o]

N ol <p <
ol Ul o0 o

I K



250l 0]o!

.I

=

0,

|

1A 0
=

@)

- H 6% Col Mloj2: 2x MAme7|,



Thank you !
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